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10: “A”, CLEAR

15 COLOR 1,CSIZE 1

20; INPUT “MONTH”, MH, “DAY”; DY

30; INPUT “CORR”; CR.“No”; NO

35; LPRINT “TAIYUAN”; TAB 9; “DD1”; TAB 14; “1084”;MH,; DY

40: LPRINT “CORR="; CR; “ms”s TAB 17; “No="; NO

45; INPUT “PH”; PH.“PM”; PM,“PS”, PS

50 INPUT “SH”; SH, “SM”; SM,“SS”; SS

60: INPUT “Y(N-8)"; YN,“T(N-5)"; TN

70: INPUT “Y(E-W)”; YE,“T(E-W)”; TE

80; LF 1. COLOR 2

90: LPRINT “P="; PH; TAB 6; PM; TAB 10; PS

100; LPRINT “S=*; SH; TAB 6; SM; TAB 10; SS

110; IF PH{OSH +23 LET SP=3600% (SH - PH) +60 % (SM - PM) + SS - PS,

GOTO 150

120, SP=13600+60*%(SM~-PM)+SS-PS

150; IF SPC(7TLET D=0,126%SP ~2+7,224%SP+0,1; GOTO 380

160; IF (SP>=7) % (SP<1®LET D=8,3%SP-1,2, GOTO 18¢
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170; IF (SP>=10) % (SP<30)LET D=10,01235% SP ~ 2+8.,09235 % SP - 0,387
180; IF SP<C10LET TP=1,366%SP+0,033; GOTO 230
190; IF (SP>=10) * (SP<30)LET TP=10,00059524% SP~2+1,3399 % SP +
0,2694, GOTO 230

200; IF (SP> =30) % (SP<34)LET D=8.86%xSP-12,17; TP=1,375% SP~-
0.3: GOTO 230

210; D=8,50*%SP, TP=8,5% SP/6.21

230; D=INT (D#10+0,5)/10

240; LPRINT“S-P="; SP; TAB 17; “DIS="; D; “km”

250, TP=INT(TP*10+0,5)/10

260 K=INT ((60+TP-PS-1E-6)/60)

270; IF PM>=KLET OH=PH, OM=PM-K, OSfGO*K+PS-TP, GOTO
290

280; IF (PH= 0)* (PM<K)LET OH=23, OM=60+PM-K, OS=60%K +
PS-TP, GOTO 29¢

V285, OH=PH-1, OH=60+PM-K,; OS=60%K +PS~TP

¥ 290, LPRINT “O="; OH; TAB ¢; OM; TAB 10; OS: TAB 17; “Te="4

' TP:-

300, GOSUB 680

310; LPRINT “Vn=", VN; “LC2"; TAD 17; “Ve="; VE. “E2”

320 AN=10%xYN/VN, AE=10xYE/VE

330; AN=INT (AN*100+0,5)/100; AE=INT (AE = 100+0.5)/100

350: LPRINT *Yn="; YN; TAB 11; “Tn="; TN: TAB 23; “An="; AN

360. LPRINT “Ye="; YE; TAB 11; “Te="; TE; TAB 23; “Ae="; AE

370.. IF D<20LET R=0,02%D +1,7, GOTQO suuv

380; IF (D> =20) % (D<33)LET R=¢,cd:xD+1,3, GOTO 3160

390: IF (D>=33) % (D<60)LET R=0.02%D+2,. GOTO 160

400 IF (D> =60) % (D<<9O)LET R=¢.,00667%D+2.75. GOTO 460

410; IF (D> =90) * (D<130)LET R=0.005%xD+2.9;. GOTO 460

420; IF (D> =130) % (D<<370)LET R=(0,005-0,1/60) *D + 3,084, GOTO
460

430; IF (D> =370) %« (D<550)LET R=0.00125%D +2.3683, GOTO 160

440; IF (D> =550) * (D<700)LET R=0.00i *D+3,95; GOTO 140

450; R=0,000667 %D+ 4,19

460, M=L0OG ((AN+AE)/2)+R

470 M=INT (M*10+0.5)/10

490; MS=INT (1,13 M=-1.08) %x10+0_5)/10

500, LPRINT “ML="; M: TAB |7; “Ms="; MS
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510, INPUT “VP’; VP

520 INPUT “IP(N-S)”; PN,“IT(N-S)"; TN

530 INPUT “IP(E-W)”; PE,“IT(E-W)"; TE

540, GOSUB 680

550; IF VP< 0 THEN 590

560; IF (PE>= 0) % (PN<= 0)THEN 10

570; IF (PE<= 0)* (PN<= 0)THEN 620

580, GOTO 630 ‘

590, IF (PE<= 0)% (PN>= 0)THEN 610

600, 1IF (PE>= 0) % (PN> = 0)THEN 620

605; GOTO 630

610; C=360;, GOTO 640

620, C= 0. GOTO 640

630, C=180

640, G=(PE/VE)/(PN/VN)

650, DEGREE, A =INT((C+ATN G)+0.5)

660; LPRINT “ALFA="; A; “(0)”

670. END

680: RESTORE

690: READ X, VN

700, IF X(OTN THEN 690

780, IF TE>0.8 THEN 840

790, RESTORE 895

800; READ Y, VE

820; IF Y(TETHEN 800

830. GOTO 880

840; RESTORE 900

850; READ Y, VE

870, IF YOTE THEN 850

$30; RETURN |

885; DATA 0,05, 121, 0,1, 174, 0.2, 192, 0.3, 197, 0,4, 200, 0.5, 204,
0.6, 208, 0.7, 208, 0.8, 202

890, DATA 0.9, 189, 1, 168, 1.2, 120, 1.4, 80,1, 1,6, 54,1, 1,8, 37.8,
2, 26,8, 2,5, 12,7, 3, 6,62

895, DATA 0,05, 136, 0,1, 168, 0,2, 174, 0,3, 176, 0,4, 176, 0,5, 180,
0.6,183, 0,7, 182, 0,8, 176

900, DATA 0,9, 162, 1, 143,1,2, 101, 1.4, 66,5, 1,6, 44,3, 1,8, 30.6, 2,
21,5, 2.5, 9.83, 3, 5,11
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